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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 39,760 86,502 41,281 45,221
RIRET1T 6 15 9 6
RIRET2T 29 58 29 29
AIEET3T 182 594 288 306
AIRET4AT 416 1,001 501 500
B 633 1,668 827 841
REH 2,700 6,084 2834 3,250
L&A 4334 9,486 4,427 5,059
BE 2,609 5,961 2,897 3,064
B AN 1,262 2,796 1,312 1,484
BERT 1,376 1,991 945 1,046
BER2T 785 1,423 690 733
BERST 463 1,031 482 549
B 2,624 4,445 2,117 2,328
BEXRE 279 658 324 334
= 2,214 5,078 2,408 2,670
hERE 638 1,432 660 772
e 2,481 5,182 2,509 2,673
25 L ET 2,314 5,088 2,436 2,652
B &AL BT 79 159 64 95
HEFILET1T 569 1,205 562 643
HEFILET2T 620 1,320 616 704
HEZFILAT3T 638 1,454 716 738
g 1,906 4,138 1,958 2,180
B & it B Fr ET 687 1,591 772 819
BHEREBET1T 595 1,226 594 632
BHERERET2T 767 1,724 825 899
BHERERETST 769 1,593 722 871
BHERERET4T 513 965 456 509
HEKERETST 850 1,739 830 909
HEERET6T 898 1,961 956 1,005
BHERERET7T 864 1,811 896 915
HERERETST 68 209 101 108
£t| 5324 11,228 5,380 5,848
HEF R FET 1,944 4,092 2,006 2,086
S|EFET1T 601 1,558 784 774
S|EFET2T 71 1,758 834 924
S|EFET3 T 756 1,430 654 776
g 2,128 4,746 2,272 2,474
ERE1T 586 1,361 657 704
EIRET2T 394 1,044 524 520
EREIST 509 1,339 655 684
EIRETAT 687 1,479 655 824
EIZEIST 539 1,097 565 532
g 2,715 6,320 3,056 3,264
ME A 2,861 6,308 2,996 3,312
J\THET1T 30 31 13 18
J\THET2T 27 60 30 30
J\THEI3T 50 110 47 63
B 107 201 90 111
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